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Ele #0 [0 m] NGOOD : 1000 / 1000
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Emit [92.00%] = 1.2500 trmm.mrad [ Norm. ]
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Alpha = 0. 44 ’ do/p| 1. 3778765609 2. 109393e-08 | 2. 6126793e-08 -4. 454631808 | -4. 89045425-07 1. 3263639e—06
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V| Emit [91.90%] = 3.1319 mn® [ Neorm. 1
| | Beta = 0.5766

ilpha

= 0.0044

W oK

XCancel



T[1]e]

T16:O

Trace¥in — CEL/DRF/Irfu/DACH

o

Select a M[i, j] term (Rows,Columr)

4 6
Position (m)

x (n)
i’ (rad)

v (n)
v (rad)
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Transfer matrix
Hl o - -
Froem |1 ~| To B8 -
0. 18052535 0 0
—0. 06651 7442 4] 4]
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0 0 0
4] 4] 4]
] ]
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4] 0. 53896244
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3.6116496e — 07

Calculated L,y = > 241839130 — 06 0.14934,

Envelope B,,, = 0.27688, Byy= 0.83287,

Phase space B,,, = 0.2384, Byy = 0.8247,

1.0864055e — 06

Byy1= 5 4183913 — 06

= 0.44923,



